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MATHS

BOOKS - RD SHARMA MATHS (HINGLISH)

ALGEBRAIC IDENTITIES

1 1
1Lifz* + — = 47, find the value of z* + —
T x3

o Watch Video Solution

1 1 1 1
2.Ifzc4—|——4 = 194, ﬁnd:c?’—|——3,a:2—|——2anda:—|— —
x x x x

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_WbJxN9n7XQNS
https://dl.doubtnut.com/l/_wOqr5SEvkL6e
https://dl.doubtnut.com/l/_aBPpyLUV95G8

1 3 1
3.fx — — =7, find the value of z° — —
x 23

o Watch Video Solution

(a® — b2)3 + (0% — c2)3 + (& - a2)3

4. Simplify:
Pty (a—b*+b-0*+(c—a)’

o Watch Video Solution

5. Find the value of 4z? + y® + 2522 + 4y — 10yz — 20zz when

x=4,y=3and z = 2.

o Watch Video Solution

6.1fa’> + b2+ =250and ab + bc +ca =3, inda+ b+ ¢

o Watch Video Solution



https://dl.doubtnut.com/l/_aBPpyLUV95G8
https://dl.doubtnut.com/l/_cB9NTKfHrtyg
https://dl.doubtnut.com/l/_d3QLTQ025KnC
https://dl.doubtnut.com/l/_RwoRdtlginxx
https://dl.doubtnut.com/l/_uVuOVwM9L63v

7. If a+b+c=6 and ab+ bc+ ca = 11 ,

a® + b + ¢ — 3ab-

find the value of

° Watch Video Solution

8. Find the following

(:c—i—y+2z)(:1:2—|—y2—|—4z2 — zy — 2yz — 2z2)

products:

o Watch Video Solution

1 1
9.1fz — — = — 1, find the value of 2 + —
x 22

o Watch Video Solution

10.1fa® + b* + ¢ —ab — bc — ca = 0, provethata = b = c

o Watch Video Solution



https://dl.doubtnut.com/l/_uVuOVwM9L63v
https://dl.doubtnut.com/l/_SFes2TnwH6oF
https://dl.doubtnut.com/l/_N0ZPUPZtzIyX
https://dl.doubtnut.com/l/_mq8e4EbDyDQg

1M.1f 922 + 25y> = 181l and zy = — 6, find the value of 3z + 5y

o Watch Video Solution

12.if a-b=6 , ab=20 . find a® — b°

o Watch Video Solution

13. Write the following in expanded form: (9z + 2y + z)°

° Watch Video Solution

14. Prove that a® + b? + ¢ — ab — bc — ca is always non-negative for

all values of a, b and c -

o Watch Video Solution



https://dl.doubtnut.com/l/_mq8e4EbDyDQg
https://dl.doubtnut.com/l/_WOmz4iZGhU9N
https://dl.doubtnut.com/l/_LBZU1DAtkRom
https://dl.doubtnut.com/l/_89in2xNuSTTn
https://dl.doubtnut.com/l/_cAT47fEhxOYi

15.1fa + b+ c = 9and ab + be + ca = 40, find a®> + b* + &

o Watch Video Solution

16.Simplify: (a + b + ¢)’

o Watch Video Solution

1
17.1f 22 + — = 98, find the value of 3 +1/2°
T

o Watch Video Solution

18. Simplify the following:

723 + 8y° — (4z + 3y)(16ac2 — 12zy + 9°

N—

° Watch Video Solution



https://dl.doubtnut.com/l/_T3VIyTG85QVn
https://dl.doubtnut.com/l/_LtmezzUF6ooo
https://dl.doubtnut.com/l/_mkzlFXkmjPV9
https://dl.doubtnut.com/l/_gvAFEvKorT4C
https://dl.doubtnut.com/l/_BtdpPXLgD1HO

19.1f ¢ — b = 6and ab = 20, find the value of a®> — b

A. 576
B. 500
C. 566

D. 560

Answer: A

o Watch Video Solution

20.If a + b = 10 and ab = 21, find the value of a® + b°

o Watch Video Solution

21.1f 422 + y? = 40 and 2y = 6, find the value of 2z + -

| o Watch Video Solution


https://dl.doubtnut.com/l/_BtdpPXLgD1HO
https://dl.doubtnut.com/l/_QzV7PFIxQu9d
https://dl.doubtnut.com/l/_VsDXvlYUOvLI

22.1f a + b = 7and ab = 12, find the value of (a2 —ab + b2)

° Watch Video Solution

1
23.1f 22 + — = 83. find the value ofz® —1/2°
x

o Watch Video Solution

4. fxr+y+z2z=1L2zy+yz+2r = —landzyz = — 1, find the

value of z* + 3 + 2%.

o Watch Video Solution

25. Find the following products: (i)

(0. 9z + 0. 7y) (0. 812> — 0. 63zy + 0. 49y*) (i)


https://dl.doubtnut.com/l/_VsDXvlYUOvLI
https://dl.doubtnut.com/l/_WG2pOm8YaTC7
https://dl.doubtnut.com/l/_RoCcEftQLzhK
https://dl.doubtnut.com/l/_lxBOjRyR1oUL
https://dl.doubtnut.com/l/_ctKnNhaWYWpZ

2z 3 92 412 6x
2 Y + + 4
5 7 49 25 35

o Watch Video Solution

26. If a+b+c=15 and a®> +b* +c =83, find the value of

a® + b + ¢ — 3abe

o Watch Video Solution

27. Without actually calculating the cubes. Find the value of each of
the following: ( — 12)* + 7° + 5% (28)> + ( — 15)® + ( — 13)°

A. 16888

B. 16367

C. 16380

D. 16000


https://dl.doubtnut.com/l/_ctKnNhaWYWpZ
https://dl.doubtnut.com/l/_CZxh4479FPXY
https://dl.doubtnut.com/l/_RZpTTga9Yn5b

Answer: C

o Watch Video Solution

28. Ifa+b+c=9 and a®> +b*+ ¢ =35 find the value

a® + b + & — 3abe

of

o Watch Video Solution

1 1
29.Ifx — — = 3+2\/§,ﬁnd the value of z° — —
T

3

o Watch Video Solution

30.If z + y = 12 and zy = 32, find the value of 2% + y*.

o Watch Video Solution



https://dl.doubtnut.com/l/_RZpTTga9Yn5b
https://dl.doubtnut.com/l/_gLvqeb3s0scO
https://dl.doubtnut.com/l/_xZTUlX3fhEnW
https://dl.doubtnut.com/l/_ZKx2WVQn6Kn3
https://dl.doubtnut.com/l/_w2LDFnYQPRdD

31.If 3z + 2y = 12 and zy = 6, find the value of 922 + 4y
(3¢ + 2y)°=92% + 4¢° + 12zy

144=92% + 44> + 12 x 6

144 — 72=9x2 + 4y°

9z + 4y?=T72

o Watch Video Solution

1 1 1
32.1fz + — = 6,findz’ + — (N2 + — (z+1/2)* =6
x 22 4

N 1
T +—2+2=36

XL
2 1
z°+ — =36 — 2
1132
9 1
4+ — =34
$2
1\? 1
(ii) <w2+—) =zt + — 42
x2 x4
1
<x4+—4>:342—2
Xr
4 1
T —|——4:1154
XI

o Watch Video Solution



https://dl.doubtnut.com/l/_w2LDFnYQPRdD
https://dl.doubtnut.com/l/_xuQydjJyYgSv
https://dl.doubtnut.com/l/_rKwgY66Dz3RI

1 1
33.1f 22 + — = 27 , find the values of each of the following: x + =
x

1 1
(ii)m——m2+—2:(m—|—1/x)2—2
T x

(z+1/z)° =27+2=29
(z+1/z) =29

( 1>2 2, 1
iVle——) +2=2"4+ —

X a:z

(x—1/x)> =27 -2

(z—1/z) =5

o Watch Video Solution

34. Find the products: (i) (2z + 3y)(2z — 3y)

(i)(z — 1)(z + 1) (z® + 1) (z* + 1)

o Watch Video Solution

35. Without calculating the actual cube find the value of

(—12)° + 7 + 5%and 28% + ( — 15)® + ( — 13)*



https://dl.doubtnut.com/l/_rKwgY66Dz3RI
https://dl.doubtnut.com/l/_6ffGz38xHK1L
https://dl.doubtnut.com/l/_UQPPn7tpbxRC

| ° Watch Video Solution

36. Expand each of the following: (i)(3z + 4y)? (ii) (3z — 4y)”

o Watch Video Solution

1 3 1
37.f x — — = 3, find thevalueof z° — —

o Watch Video Solution

38.1f 2z + 3y = 13 and zy = 6, find the value of 823 + 27y3

o Watch Video Solution

30.1fa + b = 10 and a® + b = 58, find the value of a® + b°

o Watch Video Solution



https://dl.doubtnut.com/l/_UQPPn7tpbxRC
https://dl.doubtnut.com/l/_g9KzahtqqmnW
https://dl.doubtnut.com/l/_BUEOFmtYrf8P
https://dl.doubtnut.com/l/_x4f8PwteiGNw
https://dl.doubtnut.com/l/_zGbmdKVR0uFZ

1 1
40.If ¢ + — = 7, find the value of z° + —
X ;[;3

° Watch Video Solution

41. Simplify each of the following expressions:

2 ¥y o oz\2 x Yy  z\2
@+y+2’+(e+3+2) —(5+35+7)
(x+y—2z)2—x2—y2—3z2—|—4xy

—(zc2+:1:—|—1)2—(a:2—l—33—|—1)2

(i)

(i)

o Watch Video Solution

42. Simplify each of the following: (4z + 2y)° + (4z — 2y)°

(4z + 2y)3 — (4z — 2y)2

o Watch Video Solution



https://dl.doubtnut.com/l/_zGbmdKVR0uFZ
https://dl.doubtnut.com/l/_LqgpJcdNDL5l
https://dl.doubtnut.com/l/_kwWHK4tY6IzO
https://dl.doubtnut.com/l/_8HMRBLZzY7c9
https://dl.doubtnut.com/l/_iVzRyLYQuD1l

43.If x + y = 12and zy = 27, find the value of z* + 3*

o Watch Video Solution

44, Prove that:

20> + 2b° + 2¢% — 2ab — 2bc — 2ca = [(a — b+ (b—0c) + (c— a)2}

° Watch Video Solution

45. Expand each of the following (i) (3z + 4y)° (i) (3z — 4y)°

° Watch Video Solution

46. Expand each of the following

(i) (v2z — 3y)”

1\2
(i) (233 — %)

| o Watch Video Solution



https://dl.doubtnut.com/l/_iVzRyLYQuD1l
https://dl.doubtnut.com/l/_bmBkPf7bA1u7
https://dl.doubtnut.com/l/_6cRJhJI7YQpV
https://dl.doubtnut.com/l/_DWRygii4hFxk

2
47.Expand each of the following (i)(% — %) (i) (z + 5)(x — 3)

o Watch Video Solution

48. Find the products: (i)(2z + 3y) (2z — 3y)

° Watch Video Solution

49, Find the products:

(=5) (o)) ()

o Watch Video Solution

50. Find the products: (i) (2z + y)(2z — y) (42® + ¢°)

o Watch Video Solution



https://dl.doubtnut.com/l/_DWRygii4hFxk
https://dl.doubtnut.com/l/_E9JyjfM4xClX
https://dl.doubtnut.com/l/_5fgnIYUAr2MA
https://dl.doubtnut.com/l/_LP9NpKbYFhIW
https://dl.doubtnut.com/l/_ZWwr84gLwsOd

51. Evaluate each of the following by using identities: (i)103 x 97

o Watch Video Solution

52. Evaluate each of the following by using identities: (i)(0. 99)2 (ii)

185 x 185 — 115 x 115

° Watch Video Solution

53. Evaluate each of the following by using identities: (i)

0.54 x 0.54 — 0. 46 x 0.46 (ii) 103 x 107

o Watch Video Solution



https://dl.doubtnut.com/l/_ZWwr84gLwsOd
https://dl.doubtnut.com/l/_dCY91fpJWRXt
https://dl.doubtnut.com/l/_LWCkg0gs5YoE
https://dl.doubtnut.com/l/_LkwnGbWx78pH

54. Evaluate each of the following by using identities: ()95 x 96 (ii)

104 x 96 (iii) 105 x 106

° Watch Video Solution

1 5 1
55.f x + — =6, find: 2" + —
x xz

° Watch Video Solution
1 4 1
56.If x + — =6, find: 2™ + —
xr 1;4

° Watch Video Solution

1 1
57.1f z2 + — = 27, find the value of each of the following:  + =
x

° Watch Video Solution



https://dl.doubtnut.com/l/_yMuqkZgNex4R
https://dl.doubtnut.com/l/_7VsWSfqRqNzC
https://dl.doubtnut.com/l/_Sd4G4tLZODEf
https://dl.doubtnut.com/l/_myPzIzSlCXIu
https://dl.doubtnut.com/l/_ryK3tc56Yail

1 1
58, If 2 + — = 27, find the value of each of the following:  — =
x

° Watch Video Solution

59.If z +y = 12 and zy = 32, find the value of 2 + 3

° Watch Video Solution

60.1f 3z + 2y = 12 and zy = 6, find the value of 9% + 4>

° Watch Video Solution

61.1f 42% + y? = 40 and zy = 6, find the value of 2z + y

° Watch Video Solution



https://dl.doubtnut.com/l/_ryK3tc56Yail
https://dl.doubtnut.com/l/_6agJFZUxq4jO
https://dl.doubtnut.com/l/_BO5mKzPpGXPk
https://dl.doubtnut.com/l/_B2Fl3nvQyFr1

62. Prove that:

20> + 2b° + 2¢% — 2ab — 2bc — 2ca = [(a — b2+ (b—0c) + (c— a)Q}

° Watch Video Solution

63.If:a2—|—b2—|—02—ab—bc—ca:O,provethata:b:c

° Watch Video Solution

64. Evaluate each of the following using identities:

2
(i)<2:1; — i)
T

(i) 2z + y)(2z — y)

o Watch Video Solution



https://dl.doubtnut.com/l/_J6rRoY2T5yj2
https://dl.doubtnut.com/l/_fEPiYrxtuq1p
https://dl.doubtnut.com/l/_ATNePCtjHpHU

65. Evaluate each of the following using identities: (a2b — b2a)2 (i)

(a—0.1)(a+0.1)

° Watch Video Solution

66. Evaluate each of the following using identities:

(1. 52 — 0. 3y%) (1. 52® + 0. 3y?)

o Watch Video Solution

67. Evaluate each of the following using identities: (i)(399)2(ii)

(0. 98)*

o Watch Video Solution



https://dl.doubtnut.com/l/_hryeZvUpHFnU
https://dl.doubtnut.com/l/_yVuaG7kKzfL6
https://dl.doubtnut.com/l/_B3tMHcmQKEBl

68. Evaluate each of the following using identities: (i)991 x 1009 (ii)

117 x 83

° Watch Video Solution

69. Simplify each of the following:
175 x 175 + 2 x 175 x 25 + 25 x 25

o Watch Video Solution
70. Simplify each of the following:

0.76 x0.76 +2x 0.76 x 0.24 + 0. 24 x 0. 24

o Watch Video Solution

7.83 x 7.8 —1.17 x1.17

71. Simplify each of the following:

6. 66

| -


https://dl.doubtnut.com/l/_fC0B7wX5LL93
https://dl.doubtnut.com/l/_jocoKQVKMD30
https://dl.doubtnut.com/l/_xs9SBCmRxCAa
https://dl.doubtnut.com/l/_Gc3yo3oroZRm

| & Watch Video Solution

1 1
72.If z + — = 11, find the value of 2% + —
€T wz

° Watch Video Solution

1 1
73.f z — — = — 1, find the value of 2% + —
x 72

o Watch Video Solution

1 1 1
74.if z + — = /5, find the values ofz> + — and z* + —
x 22 o

o Watch Video Solution

1 1
75.1f 22 + — = 66, find the value of z — —
x? T

o Watch Video Solution



https://dl.doubtnut.com/l/_Gc3yo3oroZRm
https://dl.doubtnut.com/l/_QroHoxlGwloy
https://dl.doubtnut.com/l/_AMwgR8WL8v5y
https://dl.doubtnut.com/l/_iUHqhQ2nPtS3
https://dl.doubtnut.com/l/_A5uSWxjVdXRH

1 1
76.1f 22 + — =79, find the value of 2 + —
XL i

° Watch Video Solution

77.1f 922 + 25y° = 181 and zy = — 6, find the value of 3z + 5y

° Watch Video Solution

78.1f 2z + 3y = 8 and zy = 2, find the value of 42 + 9y>

° Watch Video Solution

79.1f 3z — Ty = 10and zy = — 1, find the value of 922 + 49y

° Watch Video Solution



https://dl.doubtnut.com/l/_A5uSWxjVdXRH
https://dl.doubtnut.com/l/_JcHmcstqKx5c
https://dl.doubtnut.com/l/_R08mVDVaJ54f
https://dl.doubtnut.com/l/_0DLmJyYvNuGt
https://dl.doubtnut.com/l/_Qm7rJ7o7c9Hj
https://dl.doubtnut.com/l/_3LvN4tmiNzlE

80. Simplify each of the products:

Lo 3)(Za+30)(La? + o8
Ea— §a+ Za,+

o Watch Video Solution

3
81. Simplify each of the products: (m + %) (m — %)

o Watch Video Solution

T x 2 2 =z 9
82. Simplify each of the products: S sllg—3)*® + 2z

° Watch Video Solution

83. Simplify each of the products: (:L'2 +z — 2) (:1:2 —z+ 2)

o Watch Video Solution



https://dl.doubtnut.com/l/_3LvN4tmiNzlE
https://dl.doubtnut.com/l/_coNdAgwHxD0K
https://dl.doubtnut.com/l/_cKTSVw8UKwNN
https://dl.doubtnut.com/l/_pRMNPuUyhf3O
https://dl.doubtnut.com/l/_8rMVWq7WpXfF

84. Simplify each of the products: ($3 — 32% — x) (mz — 3z + 1)

° Watch Video Solution

85. Simplify each of the products: (2:1;4 — 4z? + 1) (2334 — 4g? — 1)

° Watch Video Solution

86. Prove that a® + b + ¢ — ab — bc — ca is always non-negative for

all values of a, band c

o Watch Video Solution

87. Write the following in expanded form: (933—1—23;—1—7:)2 (ii)

(3z + 2y — ,z)2

o Watch Video Solution



https://dl.doubtnut.com/l/_8rMVWq7WpXfF
https://dl.doubtnut.com/l/_vENUy61sbfNN
https://dl.doubtnut.com/l/_nNeGiBiVArVb
https://dl.doubtnut.com/l/_bfWvoj8t8sFr

88. Write the following in expanded form: (z — 2y — 32)° (i)

(—z+2y+2)°

° Watch Video Solution

2
1 1
89. Write the following in expanded form: (Za — Eb—'_ 1> (i)

(— 2z + 5y — 32)°

o Watch Video Solution

90. Simplify: (a + b + c)2 + (a—b— 0)2

o Watch Video Solution

91. Simplify: (a + b + c)2 —(a—b— 0)2

o Watch Video Solution



https://dl.doubtnut.com/l/_ZKkzkh7Gm6fS
https://dl.doubtnut.com/l/_m1YOcvu1U6eA
https://dl.doubtnut.com/l/_ANShH5SxStoU
https://dl.doubtnut.com/l/_SZASP9isdwly

92.Ifa’? +b>+c =20anda+b+c=0,fnd ab + be + ca

o Watch Video Solution

93.Ifa +b+c=9andab + bc + ca = 40, find a®> + b> + ¢ Given:

o Watch Video Solution

94.1fa> + b+ =250andab + bc+ca = 3,finda + b+ ¢

o Watch Video Solution

95. Write the following in the expanded form: (a—|—2b—|—c)2 (ii)

(2a — 3b — 0)2

° Watch Video Solution



https://dl.doubtnut.com/l/_SZASP9isdwly
https://dl.doubtnut.com/l/_zdY6JOZ2D8fa
https://dl.doubtnut.com/l/_9rHSZ788rNMk
https://dl.doubtnut.com/l/_yq1LgwbZTTAd
https://dl.doubtnut.com/l/_DluQBBDD1pzc

96. Write the following in the expanded form: ( — 3z + y + 2)° (ii)

(m + 2n — 5p)2

o Watch Video Solution

97. Write the following in the expanded form: (2+z — 2y)° (ii)

(a2 + b+ 02)2

° Watch Video Solution

98. Write the following in the expanded form: (ab + bc + ca)2 (i)

2
x
Y z T

o Watch Video Solution



https://dl.doubtnut.com/l/_DluQBBDD1pzc
https://dl.doubtnut.com/l/_2c7ZhQf8Yx0m
https://dl.doubtnut.com/l/_hbqVqibzE0ge
https://dl.doubtnut.com/l/_gFnQDjjTHhMJ

2
99. Write the following in the expanded form: 2 + i + <
bc  ca ab

(i) (z + 2y + 42)°

o Watch Video Solution

100. Write the following in the expanded form: (2z — y + 2)° (ii)

(— 2z + 3y + 22)°

o Watch Video Solution

101. Simplify: (a + b + c)2 + (a—b+ 0)2

o Watch Video Solution

102. Simplify: (a + b + 0)2 — (a—b+ c)2

o Watch Video Solution



https://dl.doubtnut.com/l/_lka27Tr0BMZ3
https://dl.doubtnut.com/l/_U8dJtxbPe0R3
https://dl.doubtnut.com/l/_AED4fqpURMsk
https://dl.doubtnut.com/l/_kfeTceqEjS1x

103. Simplify: (a + b + c)2 + (a—b+ c)2 + (a+b— c)2

o Watch Video Solution

104. Simplify: (2z + p — c)2 — 2z —p+ c)2

o Watch Video Solution

105. Simplify: (w2 + 9% — z2)2 — (a:2 — i+ z2)2

o Watch Video Solution

106. If a +b+c=0 and a®> + b+ =16 , find the value of

ab + be + ca

° Watch Video Solution



https://dl.doubtnut.com/l/_kfeTceqEjS1x
https://dl.doubtnut.com/l/_iyxtCVsttpJp
https://dl.doubtnut.com/l/_6xXvdoL4EdWQ
https://dl.doubtnut.com/l/_wZrLqZumfOjd
https://dl.doubtnut.com/l/_GVkXC0b2fnw2

107.1f a2 + b + ¢ = 16 and ab + bc + ca = 10 , find the value of

a+b+ec

o Watch Video Solution

108. If a+b+c=9 and ab+ bc + ca = 23 , find the value of

a’> + b+

° Watch Video Solution

109. Find the value of 4a% + y? + 2522 + 4zy — 10yz — 20z when

x=4, y=3andz =2

o Watch Video Solution

2 2
10.simplify : (z +y + 2)* + (a:—l— vy _) _ (2 LY. i)


https://dl.doubtnut.com/l/_GVkXC0b2fnw2
https://dl.doubtnut.com/l/_t5738zaDYDGS
https://dl.doubtnut.com/l/_aNzStLmkoIE8
https://dl.doubtnut.com/l/_6yY1FmrgoWp0
https://dl.doubtnut.com/l/_3K7uQTsKjKZj

o Watch Video Solution

M. Simplify: (z 4+ y — 22)* — 22 — y? — 327 + 4ay

o Watch Video Solution

112. Simplify: (xz — T+ 1)2 — (332 +z+ 1)2

o Watch Video Solution

113. Prove that: (a + b)® = a® + b* + 3ab(a + b)

o Watch Video Solution

114. Prove that: (a — b)® = a® — b* — 3ab(a — b)

o Watch Video Solution



https://dl.doubtnut.com/l/_3K7uQTsKjKZj
https://dl.doubtnut.com/l/_6SvdcgKDFyos
https://dl.doubtnut.com/l/_7CqReJkbiEuf
https://dl.doubtnut.com/l/_n0bknuz5d8Up
https://dl.doubtnut.com/l/_7ggHmyXV4Zv0

115. Write each of the expanded form: (2z + 3y)*

o Watch Video Solution

116. Write each of the expanded form: (3z — 2y)*

° Watch Video Solution

3 3
1
117. Write each of the expanded form: <— — —> (— — _>
3z oY

o Watch Video Solution

118. Simplify each : (4z + 2y)° + (4 — 2)°

o Watch Video Solution



https://dl.doubtnut.com/l/_7ggHmyXV4Zv0
https://dl.doubtnut.com/l/_7s2AFgtwAXjH
https://dl.doubtnut.com/l/_P5j1cIk6A9ht
https://dl.doubtnut.com/l/_eheceDQA95AT
https://dl.doubtnut.com/l/_ur9rRhgaye0s
https://dl.doubtnut.com/l/_NiE8vHKbwiQU

119. Simplify each : (4z + 2y)° — (4z — 2)°

o Watch Video Solution

120.1f ¢ + y = 12 and zy = 27, find the value of 2 + 3

o Watch Video Solution

121.If z — y = 4and zy = 21, find the value of 23 — 3.

o Watch Video Solution

1 1
122.1f z + — = 7, find the value of 23 + —
T T

o Watch Video Solution



https://dl.doubtnut.com/l/_NiE8vHKbwiQU
https://dl.doubtnut.com/l/_VT8UyYrI5qmu
https://dl.doubtnut.com/l/_yVVWx63dvftC
https://dl.doubtnut.com/l/_7b6lPP7nxZn4

1 3 1
123.If £ — — = 3, find the value of x° — —
x 23

o Watch Video Solution

124.1f 2z + 3y = 13 and zy = 6, find the value of 82° + 2733

o Watch Video Solution

125.1fa + b = 10 and a? + % = 58, find the value of a® + b°

o Watch Video Solution

1 1
126.1f 22 + — = 7, find the value of 2% + —
T T

o Watch Video Solution



https://dl.doubtnut.com/l/_u0DZSjexi0br
https://dl.doubtnut.com/l/_qJRS5Kyfi7SW
https://dl.doubtnut.com/l/_oPdnW7o2oqf1
https://dl.doubtnut.com/l/_lbVHBd2EEOUq

1 1
127.1f 22 + — = 83 . Find the value of 2° — —
x x3

o Watch Video Solution

128. Evaluate: (1002)°

o Watch Video Solution

129. Evaluate: (999)°

o Watch Video Solution

1 1
130.1f ¢ + — = 47, Find the value of 23 + —
x x3

o Watch Video Solution



https://dl.doubtnut.com/l/_RIVuKjFeBUJb
https://dl.doubtnut.com/l/_uuHActqfS1nU
https://dl.doubtnut.com/l/_vdSQh3pvx9Hq
https://dl.doubtnut.com/l/_wrB4vXECS00w

131. Evaluate: 23% — 173

o Watch Video Solution

132. Evaluate: 29° — 11°

o Watch Video Solution

133. Find the cube of each of the following binomial expressions: (i)

1+y(__)3 2
T 3”50 2

° Watch Video Solution

134. Find the cube of each of the following binomial expressions:

3 . 1
20 + — (ii)4 — —
T 3z

o Watch Video Solution



https://dl.doubtnut.com/l/_G1EiyysLEUXQ
https://dl.doubtnut.com/l/_2o1TY6IES5v3
https://dl.doubtnut.com/l/_XfkXwC0zgXtw
https://dl.doubtnut.com/l/_7IjVmUEL7iyD

135. Simplify: (z + 3)° + (z — 3)°

o Watch Video Solution

136. Simplify: (% + %)3 - (% B %)3

o Watch Video Solution

2\? 2\?
137. Simplify: — - —
implify <x+x> + (:c x)

o Watch Video Solution

138. Simplify: (2z — 5y)° — (2z + 5y)°

o Watch Video Solution



https://dl.doubtnut.com/l/_7IjVmUEL7iyD
https://dl.doubtnut.com/l/_aNDBumkVv0Vt
https://dl.doubtnut.com/l/_yJDvBdhklPTD
https://dl.doubtnut.com/l/_iYIzML0lCmXr
https://dl.doubtnut.com/l/_B30Fm3952cg8
https://dl.doubtnut.com/l/_U7V9Ru2KSVFv

139.1fa + b = 10 and ab = 21, find the value of a® + b°

° Watch Video Solution

140.1fa — b = 4and ab = 21, find the value of a®> — b

° Watch Video Solution

1 1
141.1f £ + — = 5 find the value of z° + —
o Watch Video Solution
1 3 1
142.If x — — = 7 find the value of 2° — —
T 3

o Watch Video Solution



https://dl.doubtnut.com/l/_U7V9Ru2KSVFv
https://dl.doubtnut.com/l/_KWuiQ7UTx2Xl
https://dl.doubtnut.com/l/_w3NlwbhzuaGL
https://dl.doubtnut.com/l/_6t821dBbxnMs

1 1
143.1fz — — = 5, find the value of 2> — —
T 3

o Watch Video Solution

1 1
144.1f 22 + — = 51, find the value of 3 — —
T x3

o Watch Video Solution

1 1
145.1f 22 + —~ = 98, find the value of z* + —
T x3

o Watch Video Solution

146.If 2z + 3y = 13 and zy = 6, find the value of 823 + 27 ¢>

o Watch Video Solution



https://dl.doubtnut.com/l/_kFaro7yfnPm3
https://dl.doubtnut.com/l/_5pquh0wsuJpx
https://dl.doubtnut.com/l/_FzItPOrku3yH
https://dl.doubtnut.com/l/_PMUzjlDriCa6

147.1f 3z — 2y = 11 and zy = 12, find the value of 27 23 — 8°

o Watch Video Solution

1 1
148.If 2* + — = 119, find the value of 3 — —
x x

o Watch Video Solution

149. Evaluate each of the following: (103)* (ii) (98)° (iii) (9. 9)°

o Watch Video Solution

150. Evaluate each of the following: (10. 4)° (ii) (598)° (iii) (99)*

o Watch Video Solution



https://dl.doubtnut.com/l/_RmlSK8jPCONz
https://dl.doubtnut.com/l/_ChL0Gc1jIIDG
https://dl.doubtnut.com/l/_jnxDYQXdBSkq
https://dl.doubtnut.com/l/_Vm56csRwQKFt

151. Evaluate each of the following: (11113 — 893 (ii) 46 + 343

o Watch Video Solution

152. Evaluate each of the following: (1)104% + 962 (i) 93° — 1073

o Watch Video Solution

1 1 1 1
153.1f z + — = 3, calculate 22 + —, z® + — and 2* + —
x 22 23 74

o Watch Video Solution

1 1 1 1
154.1f z* + — = 194, find 3 + —, z? + — andz + —
X €T €T X

o Watch Video Solution



https://dl.doubtnut.com/l/_mDuPhRmyCbfl
https://dl.doubtnut.com/l/_vc1NkhLDztFl
https://dl.doubtnut.com/l/_nXDO3ucqDlBW
https://dl.doubtnut.com/l/_WOzrspj3FhMg

155. Find the value of 2723 + 8y3, if (i)3x + 2y = 14 and zy = 8 (ii)

14
3z + 2y = 20and zy = 5

° Watch Video Solution

156. Find the value of 642® — 12523, ifdz — 52 = 16 and zz = 12

° Watch Video Solution

1 1
157.1f 3 — — =3+ 24/2 , find the value of z® — —
X

° Watch Video Solution

158. Find the products: (z + 3y) (z* — 3zy + 9°)

° Watch Video Solution



https://dl.doubtnut.com/l/_VlzF42lwvuMq
https://dl.doubtnut.com/l/_Ri90BqdJ6gL4
https://dl.doubtnut.com/l/_AJiAkbTSQGdE
https://dl.doubtnut.com/l/_VJx4omy8Jd5G
https://dl.doubtnut.com/l/_hXINeWALbqty

159. Find the products: (7a — 5b) (49a® + 35ab + 25b°)

o Watch Video Solution

160. Find the product: (0. 9z + 0. 7y) (0. 81z> — 0. 63zy + 0.49y%)

° Watch Video Solution

161. Find the following products:

(0. 9z + 0. 7y) (0. 81z> — 0. 63zy + 0. 49y°)

20x 3 Oq 472 6z
=o)L 2
5% 7 49 25 35

o Watch Video Solution

162. Simplify : 7z* + 8y® — (4z + 3y) (162 — 12zy + 9y°)

° Watch Video Solution



https://dl.doubtnut.com/l/_hXINeWALbqty
https://dl.doubtnut.com/l/_lwDevSUZKOEv
https://dl.doubtnut.com/l/_07W4SSzPoLvz
https://dl.doubtnut.com/l/_eGdMF2gZEvHr

163. Simplify: (6m — n) (36m? + 6mm + n?) — (3m + 2n)°

o Watch Video Solution

164.If a + b = 7 and ab = 12, find the value of (a2 + b2)

o Watch Video Solution

165.1fa + b = 10 and ab = 21, find the value of a® + b°

o Watch Video Solution

166.1fa — b = 4 and ab = 45, find the value of a® — ¥*

o Watch Video Solution



https://dl.doubtnut.com/l/_eGdMF2gZEvHr
https://dl.doubtnut.com/l/_oZnCnx9pnQy0
https://dl.doubtnut.com/l/_H0h4YW3gdc9Z
https://dl.doubtnut.com/l/_TduFsri6jbar
https://dl.doubtnut.com/l/_JOsefV19sFKC
https://dl.doubtnut.com/l/_bigfHDVIraIB

167. Find the products: (3z + 2y) (9$2 — 6zy + 4y2)

o Watch Video Solution

168. Find the products: (4= — 5y) (1637:2 + 20zy + 25y2)

o Watch Video Solution

169. Find the products: (7p4 + q) (49p8 — Tp'q+ q2)

o Watch Video Solution

2

170. Find the products: (% + 2y) <% —xy + 4y2>

o Watch Video Solution



https://dl.doubtnut.com/l/_bigfHDVIraIB
https://dl.doubtnut.com/l/_CbNMNWizU5Hp
https://dl.doubtnut.com/l/_zlgbzJ2j1TrP
https://dl.doubtnut.com/l/_GqpHFHhMgmrt

_ 3 5 9 25 15
171.Find the products: | — — — || — + — + —
T Y 2 y? Ty

o Watch Video Solution

5 15 25
172. Find the products: <3 + E) <9 - — + —)

° Watch Video Solution

2 4
173. Find the products: <E + 3a:> <—2 + 92 — 6)
x

° Watch Video Solution

) 3 9 9 4
174. Find the products: P 2z — t 4z* + 6z
x

° Watch Video Solution



https://dl.doubtnut.com/l/_7qZbHdsRSMk7
https://dl.doubtnut.com/l/_Ofp4FaFuMz0D
https://dl.doubtnut.com/l/_xIKxEQgmEdtE
https://dl.doubtnut.com/l/_fQ5rAnkkMyGv
https://dl.doubtnut.com/l/_Yil2awfMInFD

175.Find the products: (1 — z) (1 + z + z?)

o Watch Video Solution

176. Find the products: (i — 2x2) (% + 4zt + 67;)
x x

o Watch Video Solution

177.Find the products: (1 — z) (1 + z + z?)

o Watch Video Solution

178.Find the products: (1 + z)(1 — = + z?)

o Watch Video Solution

179. Find the products: (332 — 1) (:1:4 + z2 + 1)


https://dl.doubtnut.com/l/_Yil2awfMInFD
https://dl.doubtnut.com/l/_ApaChJvzyePx
https://dl.doubtnut.com/l/_7QuHDPXuLQuZ
https://dl.doubtnut.com/l/_vTCqqfj69UGF
https://dl.doubtnut.com/l/_gorZ1uheDSs7

o Watch Video Solution

180. Find the products: (:c3 + 1) (m6 — 2%+ 1)

o Watch Video Solution

181 If x =3andy = — 1, find the values of each of the using

identity: (9y° — 42%) (81y* + 36z%y” + 162*)

o Watch Video Solution

182. If x = 3andy = — 1, find the values of each of the using

x z? 2 g
identity: (7 + %) (E + % — 2—:;/)

o Watch Video Solution



https://dl.doubtnut.com/l/_gorZ1uheDSs7
https://dl.doubtnut.com/l/_qibA7MzWWyQJ
https://dl.doubtnut.com/l/_G7C1wUedTj9n
https://dl.doubtnut.com/l/_xDOZyRQjZelT

183. If xt =3andy = — 1, find the values of each of the using

x 2 =z 2
identity: (Z — %) (E + 1—3 + %)

o Watch Video Solution

184. If a+b=10and ab=16 , find the value

a’> —ab+ b and a®> + ab + b’

of

° Watch Video Solution

185.1fa + b = 8 and ab = 6, find the value of a® + b°

° Watch Video Solution

186.1fa — b = 6 and ab = 20, find the value of a® — b

° Watch Video Solution



https://dl.doubtnut.com/l/_7fqXV8z5ZS3I
https://dl.doubtnut.com/l/_u6yOvmwKuBHR
https://dl.doubtnut.com/l/_fNJNwW7tRXRA
https://dl.doubtnut.com/l/_270jtb7zkgEX

187. If t = —2andy =1, by using an identity find the value:

(4y* — 927) (16y* + 362y + 8lz*)

o Watch Video Solution

188. Find the

(2z — y + 3z2) (43:2 + % + 927 + 22y + 3yz — 6337:)

product:

° Watch Video Solution

189. Evaluate: 30° + 20° — 503

o Watch Video Solution



https://dl.doubtnut.com/l/_270jtb7zkgEX
https://dl.doubtnut.com/l/_lCtYf2ZnqXzB
https://dl.doubtnut.com/l/_ejoBoJcQYUHj
https://dl.doubtnut.com/l/_ahgFSPYB7khV

190. If a+b+c=15anda®+b* + % =83, find the value of

a® + b + ¢ — 3abe

° Watch Video Solution

191. Evaluate: 1. 5° — 0. 9° — 0. 6°

° Watch Video Solution

192. Without actually calculating the cub: ( — 12)3 + 7%+ 5

° Watch Video Solution

193. Without actually calculating the cub:

(28)° + (—15)° + ( — 13)°

o Watch Video Solution



https://dl.doubtnut.com/l/_MbprIoIdtIyu
https://dl.doubtnut.com/l/_7IoXX10e7FLH
https://dl.doubtnut.com/l/_9EfwzTqcBx9Q
https://dl.doubtnut.com/l/_vexzOGpChKR5

19%%. fc+y+2=1 zy+yz+z2e = —1 andzryz= — 1, find

the value of 23 + ¢ + 23

° Watch Video Solution

(a2 o b2)3 + (b2 . c2)3 + (CQ . a2)3
(a—b*+B-0c°*+(c—a)’

195. Simplify:

o Watch Video Solution

196. Find the product:

(3z + 2y + 2z2) (9w2+4y2—|— 4 2% — 6 vy — 4 yz — 6zx)

o Watch Video Solution



https://dl.doubtnut.com/l/_vexzOGpChKR5
https://dl.doubtnut.com/l/_dw2gtXL7mwQf
https://dl.doubtnut.com/l/_8CQZGJ6tnTDi
https://dl.doubtnut.com/l/_0qlgTiYOG247

197. Find the product:

(dz — 3y + 22) (16.’132 + 9y® 4 42% 4 12zy + 6yz — 8zm)

° Watch Video Solution

198. Find the product:

(2a —3b—2c)(4a® + 9b° + 4c* + 6ab— 6bc + 4ca)

o Watch Video Solution

199. Find the product:

(3z — 4y + 5z) (92° + 16y* + 252° + 12zy — 1522 + 20y2)

o Watch Video Solution



https://dl.doubtnut.com/l/_nSz9kbDrvOQE
https://dl.doubtnut.com/l/_8cJF5hHUy6p8
https://dl.doubtnut.com/l/_xt7vA8vxbihq

200. If x +y+ 2 =8 and zy+ yz + zx = 20, find the value of

23 +y° + 23— 3zyz

° Watch Video Solution

20 If a+b+4+c=9 and ab—+ bc+ ca = 26, find the value of

a® + b + & — 3abe

o Watch Video Solution

202. If a+b+c=19 and a® +b* 4+ ¢ =35, find the value of

a® + b + ¢ — 3abe

o Watch Video Solution

203. Evaluate: 25° — 75° + 50°

| - |


https://dl.doubtnut.com/l/_DKmWAUFj4pij
https://dl.doubtnut.com/l/_5ITGF1J2xabR
https://dl.doubtnut.com/l/_rtteDOt3OzY3
https://dl.doubtnut.com/l/_76CfuvC0ybOM

| & Watch Video Solution

204. Evaluate: 48° — 30° — 18°

° Watch Video Solution

3 3 3

1 1 5

205. Evaluate: | — — — —
vauae(2> + <3) <6>

o Watch Video Solution

206. Evaluate: (0. 2)° — (0.3)° + (0.1)®

o Watch Video Solution

1 1
207.If ¢ + - = 3, then find the value of 2 + —
x

° Watch Video Solution



https://dl.doubtnut.com/l/_76CfuvC0ybOM
https://dl.doubtnut.com/l/_F86ZmR55st3X
https://dl.doubtnut.com/l/_g49Q8HbCw8zI
https://dl.doubtnut.com/l/_WLg3iFUmI7mI
https://dl.doubtnut.com/l/_ITpdvRVDLvF6

1 1
208.If x + = — 3, then the value of z% + —6is.
T

o Watch Video Solution

209.1fa + b = 7 and ab = 12, find the value of a® + b?

o Watch Video Solution

210.1fa — b = 5 and ab = 12, find the value of a? + b

° Watch Video Solution

1 1 ) 9 4
2. If x — — = — , then write the value of 42° + —
T 2 2

° Watch Video Solution



https://dl.doubtnut.com/l/_ITpdvRVDLvF6
https://dl.doubtnut.com/l/_YVlAXjJVHhny
https://dl.doubtnut.com/l/_rk8DHjv1nlwL
https://dl.doubtnut.com/l/_cxryEK8Zodwc
https://dl.doubtnut.com/l/_SrroX52mGVSH
https://dl.doubtnut.com/l/_7ANcIu9sQTRx

1 1
212.1f a® + — = 102, find the value of a — —
a a

o Watch Video Solution

a? b? c?
213.Ifa + b+ ¢ = 0, then ertethevalueofb— + — —|— 3
a
° Watch Video Solution
1 9 1
214.Ifx + — =5, thenz"+ — =7
T 332
o Watch Video Solution
1 3 1
215.If ¢ + == 2, then z° + — = ? (a)64 (b) 14 (c) 8 (d) 2
T

o Watch Video Solution



https://dl.doubtnut.com/l/_7ANcIu9sQTRx
https://dl.doubtnut.com/l/_gK3vO41THBeT
https://dl.doubtnut.com/l/_dhzkZatlUIUo
https://dl.doubtnut.com/l/_FPzuaMNtWRqT

1
216.1f z + — = 4, then zt + — = 7 (a)196 (b) 194 (c) 192 (d) 190

o Watch Video Solution

1
217.1f z + — =3, then 28 + — = 7 (a)927 (b) 414 (c) 364 (d) 322

o Watch Video Solution

1 1 —
218. If z* + — = 623, then x + o ? (a)27 (b) 25 (c) 34/3 (d)
x

-3/3

° Watch Video Solution

1 1
219.1f 2° + — = 102, thenz — — =7 (2)8(b)10()12(d) 13
X

° Watch Video Solution



https://dl.doubtnut.com/l/_GXKjc7Xrt1az
https://dl.doubtnut.com/l/_MQXZnXfJ1YUe
https://dl.doubtnut.com/l/_gfsTWQlPuTDx
https://dl.doubtnut.com/l/_wBSPnHzt6NhK
https://dl.doubtnut.com/l/_D7Ztjp7OMMsb

1 1
220. If 3 + — = 110, thenz + — = ? (a)5 (b) 10 (c) 15 (d) none of
X

these

o Watch Video Solution

1 1
221.1f 23 — — = 14, thenz — — = ? (a)5 (b) 4 (d) 3 (d) 2
X

° Watch Video Solution

1 1 1 1
222.If z* +——194 find 2% + 3,33 —|——andx—|——

o Watch Video Solution

17 13 1
a () I (d) —

1 15 1
223.If x — — = — thena:+; = 7?7 (a)4 (b) 1

x 4’

o Watch Video Solution



https://dl.doubtnut.com/l/_D7Ztjp7OMMsb
https://dl.doubtnut.com/l/_6NZpXgwUaXXa
https://dl.doubtnut.com/l/_qw4lNnCgqSKP
https://dl.doubtnut.com/l/_JKrLxbjehmFC
https://dl.doubtnut.com/l/_MC4stq9FfT0v

2
224.If 3z + P 7, then <9x2 — %) = 7 (a)25(b) 35(c) 49 (d) 30
T

o Watch Video Solution

2 2 2
225.Ifa + b+ ¢ = 0, then a——i—b— + — = 7(@)0(b)1(c) —1(d)
be ca ab

3

° Watch Video Solution

226.1fa +b+c=9andab+ bc+ ca = 23 ,thena® + > + % = ?

(a)35 (b) 58 (c) 127 (d) none of these

o Watch Video Solution

227. If a+b+c¢c=9 and ab+bc+ca=23 , then

a® + b + ¢ — 3abe = ? (a)108 (b) 207 (c) 669 (d) 729

| nlll,L,l,l'!,l,, o~ _01__n°*_ __


https://dl.doubtnut.com/l/_MC4stq9FfT0v
https://dl.doubtnut.com/l/_quBENASLtfcu
https://dl.doubtnut.com/l/_hkZXhaskg33d
https://dl.doubtnut.com/l/_qjwpXWrWw1Gw

L T vvaldil vigeo o>0iution )

228. (a—=b°+0b-—0c’+(c—a)’=7 (a)
(a+b+c)(a® + b+ —ab— bc — ac) (b)

3(a —b)(b—c)(c—a)(c)(a—b)(b—c)(c— a) (d)none of these

° Watch Video Solution

(a2 _ b2)3 + (b2 _ 02)3 + (cz _ a2)3
(a—b*+b-—0c)’+(c—a)’

229. Simplify:

o Watch Video Solution

230. The product (a + b)(a — b) (a2 —ab+ bz) (a2 + ab+ bz) is

equal to: (@)a® + 8% (b) a® — % (¢) a® — ¥® (d) a® + V°

o Watch Video Solution



https://dl.doubtnut.com/l/_qjwpXWrWw1Gw
https://dl.doubtnut.com/l/_tkkmD10WP4zq
https://dl.doubtnut.com/l/_qlsC5fy9g0Sj
https://dl.doubtnut.com/l/_29ztfzbRHc6m
https://dl.doubtnut.com/l/_4hi4PcY5VoCa

231.If% + 2 thena® — b = 7 (a)1 (b)—l(c)%(d)o
a

o Watch Video Solution

232. The product (:1:2 — l) (334 + z2? + 1) is equal to: (a)z® — 1 (b)

84+ 1@zb —1( )28 +1

o Watch Video Solution

233.Ifa —b= —8 and ab= — 12, then a® — b = ? (a)—244 (b)

— 240 (c) —224 (d) — 260

° Watch Video Solution

234. If the value of a cuboid is 322 — 27, then its possible dimensions

are (a)3, 22, — 27z (b)3, z — 3, = + 3(c)3, =2, 272 (d) 3, 3, 3

° Watch Video Solution



https://dl.doubtnut.com/l/_4hi4PcY5VoCa
https://dl.doubtnut.com/l/_p4hPIZ4h24St
https://dl.doubtnut.com/l/_nWYVCurBm9D9
https://dl.doubtnut.com/l/_GfJGRwfdhuUJ

1
235.1F 2 + 2 1 thena® + 5% = 7 (@1 (b) ~1(0) 5 (d) 0

b a

o Watch Video Solution

236. 75 X 75 —2 x 75 x 25425 x 25 is

(2)10000 (b) 6250 (c) 7500 (d) 3750

equal

to=?

o Watch Video Solution

237.(z — y) (= + y) (z* + v°) (z* + y*) is equal to=

A zl6 y16
B.z% — y8

C.azd + y8

D. z'6 + y16


https://dl.doubtnut.com/l/_GfJGRwfdhuUJ
https://dl.doubtnut.com/l/_kT8leWRec5l0
https://dl.doubtnut.com/l/_vL0pjtKDezxQ
https://dl.doubtnut.com/l/_mQfGJih5ImEZ

Answer: B

o Watch Video Solution

1 1
238. If 490> — b = <7a + 5) (7a — 5), then the value of bis =?
()O(b)l() : (d)1
TETE R

° Watch Video Solution



https://dl.doubtnut.com/l/_mQfGJih5ImEZ
https://dl.doubtnut.com/l/_yYmwbARfdLV2

